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QUESTION 1

Transistors contain at least three terminals called the
A. base, emitter, and collector

B. base, positive terminal, and negative terminal

C. emitter, amplifier, and collector

D. base and two gates

Correct Answer: A

The three terminals a transistor must have are the base, emitter, and collector.

QUESTION 2

What should the temperature of a typical soldering iron be when joining two wires together?
A. 200 to 300 degrees Fahrenheit

B. 400 to 500 degrees Fahrenheit

C. 500 to 600 degrees Fahrenheit

D. 700 to 800 degrees Fahrenheit

Correct Answer: C

To properly melt solder, you should use a soldering iron heated between 500 and 600 degrees Fahrenheit.

QUESTION 3

Which of these elements is considered a semiconductor?
A. sulfur

B. magnesium

C. argon D. silicon

Correct Answer: D

QUESTION 4

Two electrical wires run to a machine. One wire is 6mm thick, and the other is 3mm thick. For the two wires to carry the
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same current, the larger wire

A. requires less voltage

B. requires more voltage

C. requires the same voltage

D. It can\\'t be determined from the information given.
Correct Answer: A

Larger wires require less electrical pressure to run current.

QUESTION 5

Which of the following contains an electromagnet?
A. Light switch

B. Doorbell

C. Fluorescent lightbulb

D. Incandescent lightbulb

Correct Answer: B

Of the items listed, only a doorbell contains an electromagnet.
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